A F—L5 % &) 1 [ 2 3] 4 Bx] = (BN
HEES BR @@ 112/3 2
2 |EFEL he | O 11 0 [0/3 4
3 |~3vssE B0 | O | @ O |[1/3 3
4 |E==Em aE (@13 d 3/3 1
B F—L5 % ] 1 [ 2 [ 3 [BR] = [IBM
1 |BLEYRTIL BERES 11 0 |0/2 3
2 |IRZ K 2R | @ 1 (1/2 2
3 |D9Fa—vrE? | 28 | Q| @ 2/2 1
C F—L5 % B 1 [ 2 3 [Bx] = [IBM
1 |FHer Y- gy Q| @ |2/2 1
2 |AEETH e | O 1 |0/2 3
3 |[#yvovT #]B8 |1 | O 1/2 2
D F—LE % &g 1 [ 2] 3] 4 [ m=x] 2 [BO
1 (2L ICIERSE FOTRL @111 01(1/8 3
2 |SEiEReE =R | 1 O O |[0/3 4
3 |PFA B | D | © O |2/3 2
4 |PRIFYHZ B | Q| Q| O 3/3 1
| —JEDRSIEE

SF—-LADIFE 1—2 2—3 1—3
AF—LhDBE 1—-2 3—4 1—-3
2—4 2-3 1—4

A1 | SRS IRER =4~ 1

ciin|FHEr YT — == @

DIfiI| P R T v IR 250 0




